Identity Sheet

sin (4 cos(d 1
tan(6) = cos((é’)) cot(0) = o ((9)) sec(0) = cos( ) cse(6) = in(0)
sin(—@)=-sin(#) cos(-f)=cos(d)  tan(-6)=—tan(6)
cse(—0)=—csc(0) sec(-0)=sec(8)  cm(-0)=—ctn(6)
sin(0) = cos(90° —~ 6’) cos(0) = sm(90 6’)
cse(8) = sec(90° - 6’) sec(6) = csc(90 6’)
tan (6) = ctn(90° — 6’) ctn(0) = tan (90 6’)
sin*@+cos’@=1  sin®@=1-cos’@  cos’@=1-sin’@

sin@=4+1-cos’@ cos@==+1-sin’ @
tan’@+1=sec’ 0 ctn’@+1=csc’ 0
cos(0+¢) = cos(H)cos(¢)—sin(H)sin(;é) cos(6—¢)=cos(&)cos(g)+sin(8)sin(g)
sin(@+¢) =sin(6)cos(g)+cos(0)sin(p) sin(6—¢)=sin(0)cos(¢)—cos(8)sin(g)

tan( )+ tan(¢) tan (&) —tan(¢)
(04 0) =1 an (0 an (9) o (0=0) =1 an (9 tan (9)

-
cos(0)+cos(4) = 2008(%}@(%} cos(ﬁ)—cos(qﬁ):—2sin(9;¢Jsin(9;¢j
sin (@) +sin (@) = 2sin (?j cos(%j sin (@) - sin (¢) = 2sin (%} cos(#j

cos(0+¢)+cos(0-9)
2

cos(6—¢)—cos(6+¢)
2

sin(6)cos(#) = sin(6’+¢);sin(0—¢)

cos(26) =cos® (8)—sin® (6) =2cos’ () -1=1-2sin’(0)

cos(0)cos(¢) =

sin(6)sin(¢) =
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1-cos () _ sin (0)
)




